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Example Candidate Responses - Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / IGCSE (9-1) Business
Studies 0450 / 0986 and Cambridge O Level Business Studies 7115, and to show how different levels of candidates’
performance (high, middle and low) relate to the syllabus requirements.

In this booklet candidate responses have been chosen from March 2020 exam series to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

0450 March 2020 Question Paper 12

0450 March 2020 Paper 12 Mark Scheme

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support

Example Candidate Responses - Paper 1

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

4 )

Examiner comments are
alongside the answers. These

Answers are by real candidates in exam conditions. explain where and why marks [~
These show you the types of answers for each level. were awarded. This helps you
Discuss and analyse the answers with your learners in to interpret the standard of

the classroom to improve their skills. Cambridge exams so you can

help your learners to refine
their exam technique.

How the candidate could have improved their answer

(d) The candidate demonstrated good contextual understanding of each barrier. The first part clearly explained how
the use of technical language might create a communication barrier for this business. A shorter answer (missing out
the final sentence) would still have earned full marks and the final sentence was not relevant to the question. There
were no marks awarded for the attempted development of the second barrier, because ‘distorted’ and ‘not clear’
was the same point. To improve, the candidate needed to explain how the message being distorted could lead to
misinterpretations and this could then result in errors.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question
(d)

« Some candidates recognised that workers would ‘not understand’, without identifying the reason why this would
happen.

+ Some candidates misread the question and focused on ways to overcome the communication barriers identified.

+ Some candidates were not able to apply the points they made, to the given scenario.

+ Some candidates explained the impact of the barrier on the business, rather than the reason why the barrier arose.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpret the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.




Example Candidate Responses - Paper 1

Question 1

Example Candidate Response — high Examiner comments

(c) Outline two possible problems to HSN of many employees leaving.
Problem 1: lme.%l%i’s:fie.v.\x.....\m&m.c«h‘.’.v?\k%.z.\%_..m.mkgm......l..‘..
e \Rafing. euexy. rotoand. o Swee gt
.\-s.ﬁv....pz@.bl.emf.’m...pm&mﬁm...&%...bafeamm.cme.q&b,
wVﬁdAﬂﬂ&v\rs&dnuﬁa&mbmdpmﬁfmugn
Problem 2: .1 £. 105K €7S....Q910... Jooniv e Sok.tea..
SN hoxdo. ool nows. 0p0dkp..oF. anakens..
....\[.\l\(ﬁc)/.\....m“\’.%‘g\x..‘ff\ngzze,qse..:km.,‘.:'acecmﬁ\:me,vst."en%.‘r........

th\*((:ﬁvﬁ(\%o@ﬁ’s ...... s 00 —

This is the correct definition.

The second sentence is not
needed because a full definition has
already been provided.

Mark for (a) = 2 out of 2

The candidate identifies two
correct distribution channels.

Mark for (b) = 2 out of 2

A problem is outlined.

The candidate appropriately
uses information from the scenario,
so is awarded an application mark.

The second problem is outlined,
but this needs to be linked to HSN’s
business to gain the application
mark.

A third problem is identified but
is not needed.

Mark for (c) = 3 out of 4




Example Candidate Response — high, continued

Example Candidate Responses - Paper 1

Examiner comments

. {d). Explain how each of the following could cause.communication barriers within HSN.
Language: ..... ka-'“"jua L. WCA ..... bﬂﬂ"" ..... '?.'M.‘f...f?]ﬂ\.y ..... btm"”hf-hf"““’
ondweodvoced . Jems: Ay o foulk the recewel may  nob ke

.......................................................................................... ly.,..fes g

not be able

rLo{undmi~-

o o by of ecors, Koty e qualily of. e brkfas. -

The first barrier is identified.

The candidate gives a clear
explanation and states how the
use of technical terms might lead
employees to misunderstand the
instruction, and how this could
cause a communication barrier.

The candidate appropriately
uses information from the stem,
which shows good application.

This comment about loss
of potential output and the last
sentence can be omitted because
there is no need to explain the
impact on the business.

A second barrier is identified.

This point needs more
development because ‘distorted’
and ‘not clear’ are the same.

The attempt at analysis has the
wrong focus and does not explain
how the barrier might arise.

The candidate is awarded one
application mark for a relevant
reference to this business.

Mark for (d) = 5 out of 6




Example Candidate Response - high, continued

Example Candidate Responses - Paper 1

Examiner comments

(e) Do you think external recruitment is better than internal recruitment when recruiting a new
manager for a large business? Justify your answer.
filld

Exbend  recpidmat b whea o vatag D

breclefk . coceals.. Thetehee, ey will e able o nesss eefp......

The question does not ask for a
definition, so no marks are awarded
for the definition in this answer.

The candidate is awarded one
mark for recognising a relevant
advantage of external recruitment.

‘Transfer of ideas’ and ‘more
techniques’ are the same point, so
the candidate can only be awarded
a mark for one of these.

Part (e) is a general question,
so no marks are awarded for
application.

This is a good example of
extended development and the
candidate is awarded two analysis
marks. An increase in efficiency
could help reduce average costs.

The candidate is awarded
a second knowledge mark for
stating a disadvantage of internal
recruitment. Although the work has
been crossed out, no alternative is
provided so the principle of positive
marking applies.

The candidate has not made a
decision, so cannot be awarded any
evaluation marks.

Mark for (e) = 4 out of 6

Total mark awarded =
16 out of 20
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How the candidate could have improved their answer

(a) The definition was correct, but the second sentence was not needed because the candidate provided a full
definition in the first sentence.

(b) This was a succinct answer which identified two different distribution channels.

(c) The candidate correctly outlined two possible problems of many employees leaving. However, the second
problem was more generic and could apply to any business. Following ‘increased recruitment costs’, the candidate
could have referred to the fact that the business had 600 employees. This would have helped them link their point
to the context. The final sentence identified another problem, however, because the question only asked for two
problems this was unnecessary as all available knowledge marks had already been awarded. This would have
saved the candidate time for other questions.

(d) The candidate demonstrated good contextual understanding of each barrier. The first part clearly explained how
the use of technical language might create a communication barrier for this business. A shorter answer (missing
out the final sentence) would still have earned full marks and the final sentence was not relevant to the question.
There were no marks awarded for the attempted development of the second barrier, because ‘distorted’ and ‘not
clear’ was the same point. To improve, the candidate needed to explain how the message being distorted could
lead to misinterpretations and this could then result in errors.

(e) The advantage of transfer of ideas was well explained. The candidate also identified a disadvantage of internal
recruitment, but the explanation incorrectly focused on the impact on employees, rather than the business.
However, as both analysis marks had already been awarded, this error did not affect the overall mark. The
candidate needed to make a decision to be awarded the evaluation marks. The candidate could have discussed
the advantages and disadvantages of each method and then this could form the basis for a balanced decision.
For example, they might have pointed out that internal recruitment is cheaper than external recruitment and then
provided a justified reason why the benefits of better production methods might outweigh the additional costs of
recruiting a manager familiar with these ideas. For the second evaluation mark the answer should have referred to
large businesses. Part (e) questions are general questions, so linking points to the context was unnecessary.
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Example Candidate Response — middle Examiner comments

1

HSN uses batch production to make breakfast cereals. The products are sold using several -
distribution channels. HSN employs 600 production workers. HSN has problems with many
employees leaving. Following the dismissal of the Operations Manager, the Human Resources
Director has to recruit a new manager. She said: ‘The person must have good communication skills
to help solve the communication barriers HSN has with employees.’ The Human Resources Director
has to decide whether to use internal recruitment or external recruitment for the new manager.

(a) Define ‘dismissal’.

...j.l}b...dM( ia pood.. hedanti oo | G, %WMQ-QM' .....
........ J\ mploa&%mt%fcom‘om%)

........................................................................................................................................... 2]
(b) State two distribution channels a business might use.
Distribution channel 1: MW&C.»\'UMC’Y ..... ibtkc%{’oMUxi« ............
Distribution channel 2: ..aaat.a.oturer.. Lo he. Cionatad
........ it A A XS e 2]

(c) Outline two possible problems to HSN of many employees leaving.’

‘Problem 1: 5% HSN!s. mang..em My@b& PuIII 5%\0/1/&

....... thaon. Has... ‘h’Dde’?@ﬂ el UsCLA
&@Uzwxe and. M peoducks. wsffh be. produced

TIRs..can. Mm]beﬂz .ﬂusz)uhﬁon @bﬂ HSN........
Problem 2: . 5’4’3 . a7 Q,tu bﬁ.M’f\
m@u% wok vee. . HSN. mighY-
odzd O :Hwﬁrwﬂaaj,u
..... WUEL?@VH A O

Using the word ‘fired’ does not
demonstrate an understanding of
dismissal.

Although the word fired’ is
too vague, the reason is valid and
shows some understanding of the
term.

Mark for (a) = 1 out of 2

The first distribution channel is
identified.

Where candidates describe
the whole channel, the answer
is classed as a single response.
Although the candidate identifies the
retailer, the stages are in the wrong
order so the answer is incorrect.

Mark for (b) = 1 out of 2

This is repetition and is the
same as ‘production level will
decrease’.

The candidate outlines two
separate issues ‘decrease in
production’ and ‘hamper the
reputation’ in this section, but makes
no reference to this business.

The candidate outlines the
impact on the employee and not the
business, which is not the focus of
the question.

Mark for (c) = 2 out of 4

10



Example Candidate Response — middle, continued

Example Candidate Responses - Paper 1

Examiner comments

(d) Explain how-each of:the following could .cause communlcatlon barriers: wnthln HSN.

\AM@Q

A A ...mMPlo au....o..l.....muh...m.e.
m emw«u ..... oifl mu .. WMW

..... how QMO\W&{’Q.MMMV\PMOJALW\M%&%Q
Medium of communication: . l} he mo.v\a.fjm e ka o emadl. «to

- m.c.%@kﬂf«?&....%hcﬁu.‘lk‘& a ngz COMW SO T

w&%mhmwwmwiﬂdweo{ et PACIAAGL.....

whe Neuntts
{e) ‘Do you thmk external recruitment is better than internal recruitment when recrultmg anew
manager for a largé business? Justify your answer. .

Indoonal. decrtibivent. 18 Ahe. ‘%Pﬁ..a}.s&aumtmm A0k ...
...G.JA...exa.&hy.\g...EyMploﬁ.ee...Jlau/s...m...mc.m Jab Pom‘w» ,m%’v»a .....
Dbushnesa.... When.. J~ec‘&u&+m%...@....k\.m ....... mdnagex. forx...0n.
..ﬂmde businesa,. Lk L. Qdulja,blc’ihkewuka\/&ﬂ&hv\g
ey ma.wma mw....k{.!.gm..mm.‘amtcuoou,t...m .....
- Oom?wzd_ OnA. A CDMf cwhueka Fiavernd _e)ﬂae«f emeech Haoun
...&QM&QM..,.LDI/.\.D..MM,.hi...ﬁm%.ﬁkﬁﬂm,ﬂd jH&NoLwdem:
LAk o nanagey. Lkt ek dalac.. 9. Lok, L
Has. jmrﬂ\e N mam.aﬁeva@& ............ dapied. 3o e
enuiyonmenkt. sl @d’ A mwaoywmwam
?\ammwbwmc%@m}oa ..M.aw&-fmﬁ AR
.'QXX&-!'\V\B w\m/\oﬂwvtx%beﬁwerﬁuh ................................. R [6]

The effect of using a language
which is difficult to understand
is well explained, but there is no
contextual reference.

It is not clear how sending an
email creates the communication
barrier that the candidate suggests.

This repeats the earlier point,
rather than identifying the barrier.

Mark for (d) = 2 out of 6

It is not necessary to start with
definitions and no marks can be
awarded for this.

The first issue is identified.

The comment about experience
is vague and needs further
explanation to show why this is
helpful to the business.

The second issue is identified.

The candidate makes a
decision, but this statement is not
supported.

Mark for (e) = 2 out of 6

Total mark awarded =
8 out of 20

1
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How the candidate could have improved their answer

(a) Use of the word ‘fired’ was incorrect as it did not explain the term, however the candidate understood that it was
linked to workers leaving due to poor behaviour, so was awarded one mark. The answer could have been improved
by referring to the employees being told to leave by the employer. Definitions need to be accurate to be awarded
full marks.

(b) Where candidates described the entire channel, the response was classed as a single answer. Although the
candidate did refer to retailer, this could not be awarded because it formed part of an incorrect answer, rather than
a separate response.

(c) Two problems were outlined: ‘production level decreased’ and ‘hamper the reputation’, but there was

no application. The candidate needed to include appropriate use of the information provided in the stem, to
contextualise the answers. For example, they could have connected the decrease in production to what the
business made, or shown how the reputation being hampered might make it more difficult to recruit a new manager.
The sentence about motivation was not relevant because it did not outline the impact on the business.

(d) The candidate was awarded two marks for explaining the effect of using a language which is difficult to
understand. However, the answer was generic and could be applied to any business. Instead of saying ‘few’, the
answer would have benefited from stating the actual number of employees the business has and this could have
linked the point to the context.

The comment about ‘sending an email’ needed to be clearer. The candidate needed to add that without asking for
feedback the business would find it difficult to keep track of messages, and then could explain why they would not
know who had or had not received the message.

(e) The candidate identified two issues, but these were not developed. The candidate should have developed this
point further and justified their decision as to whether external recruitment is better than internal recruitment. To
achieve evaluation marks the candidate should have clearly related to a large business.

12



Example Candidate Response — low

1

HSN uses batch production to make breakfast cereals. The products are sold using several
distribution channels. HSN employs 800 production workers. HSN has problems with many
employees leaving. Following the dismissal of the Operations Manager, the Human Resources
Director has to recruit a new manager. She said: ‘The person must have good communication skills
to help solve the communication barriers HSN has with employees.’ The Human Resources Director
has.to decide whether to use internal recruitment or external recruitment for the new manager.

(a) Define ‘dismissal’. ; -

L

eave... fage. R - \»“*HAJML;V ....... (SIS

..... l/\)”.\’
........................................................................................................................................... [2]
(b) State two distribution channels a business might use:
S ..
== papsr: e producttav lae..0ld .. N7

' ' clop Ei=\'_j o
Distribution channel 2; ’H&FVOJ%‘}CQV\QQQOH‘qum

Example Candidate Responses - Paper 1

Examiner comments

Although the phrase ‘leave the
job’ might have been awarded a
mark, here, the reference to ‘with
their own will’ is incorrect. This
suggests that it is the employee’s
choice to leave, and not that they
are made to leave by the employer.

Mark for (a) = 0 out of 2

This is too vague to be
awarded any marks.

No marks are awarded because
‘shopping mall’ is too vague and
is the same point as stated in
distribution channel 1.

Mark for (b) = 0 out of 2

The second problem is not
clearly outlined. The candidate
needs to show that brand image
might be affected, for example, it is
likely to damage HSN's reputation.

Mark for (c) = 1 out of 4

13
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Examiner comments

- (d) Explain-how each of the following could cause«communication barriers within HSN..

anguage: ... Ebaployees . m 3 ................. wa“r ......... cleavlu
uv\c\a\fﬁ%d\m\aguag@ ........... ased b ;jHQN
..... HSN | wlal v«o‘VGDeaoJQle, do...vse. Mo
..... Loy emMeL g deaf”g’}wcﬂb e 2raployee -
e aadd tead Ao Ssswe.wadh mdUQ+{Ql/>....
eﬁﬁwﬁ*’%&”“mim
wseel . ej”fﬁl\\wgkk ..... na be.able 4o deliver
message. o v\’{‘llwe.} ................... vooddd. .. glotaer . 'H«.t ..........
dngw mqk\j Proeess ... Me&mgy:mgk?: ...........
.............. 2 ddwemo[o&au

The first point is too vague as
the candidate needs to state why
the employee might not clearly
understand the language. If they
had given a reason such as ‘use
of jargon’ or ‘technical language’,
they could have been awarded an
analysis mark for explaining how it
creates the barrier mark.

This sentence repeats the
earlier point made.

This is an appropriate reference
to this business, however, an
application mark cannot be awarded
if there is no evidence of relevant
knowledge.

This sentence explains the
impact on the business, rather
than identifying the communication
barrier.

‘Message might not be
delivered’ is accepted as an
alternative to the idea that the
message may be lost or distorted,
and is awarded a mark. The
candidate should have linked this
point to the fact that HSN had 600
employees in order to be awarded
an application point.

Mark for (d) = 1 out of 6

14
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Examiner comments

(e) Do you think external recruitment is better than internal recruitment when recruiting a new
manager for a large business? Justify your answer.

Exferiaal... reoruhead
Ao HIN. drons outfide . R Corapany... Wliek

..... Lo ov}d?x}?—kvﬁws'}o\’

Ao besh . onsth 3@%0}%5*3*5/&3““"@ .......

... povide.. et obfehy toovldl . Snerease.
cosh Ldterval . recruitiaend % Wrfng
inager e Aroms e FrhsN eelt e

Here the answer simply defines
the term and does not answer the
question. The focus should be on
discussing the advantages and
disadvantages of each method of
recruitment.

The reference to training is
too vague to be awarded a mark.
Reference to ‘induction training’,
would have gained a knowledge
mark.

This comment is too vague
because it is not clear how time is
being wasted.

This is a relevant advantage of
internal recruitment.

This point is not valid because it
is based on unknown assumptions
about pay.

Mark for (e) = 1 out of 6

Total mark awarded =
3 out of 20

15
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How the candidate could have improved their answer

¢ (@) The candidate did not demonstrate an understanding of dismissal. The comment about ‘leave the job’ needed
further explanation, and the subsequent reference to ‘own will’ was incorrect because the definition of ‘dismissal’ is
that employees are made to leave the business against their will.

¢ (b) Both examples were not detailed enough to be awarded any marks. The candidate needed to show greater
precision when identifying distribution channels and needed to use the correct terminology, for example ‘retailer’
instead of ‘shopping market’. A clearly different second distribution channel was also needed, such as ‘wholesaler’
or ‘direct to customer’ as the same point could only be awarded once.

¢ (c) The candidate outlined one problem, ‘lower output’, but did not apply the answer to the scenario. The candidate
could have mentioned that the business produced breakfast cereal. The second problem needed to show how
brand image might have been affected. The candidate would have been awarded the second knowledge mark if
they had added that it would make it difficult to recruit a new manager, so it is harder to use external recruitment.

* (d) The first barrier was vague. The candidate needed to state why the language might not be clearly understood,
for example the managers might speak a different language, or might have used technical language. The reference
to cereals could then have been awarded a mark for application. Candidates must show relevant knowledge in
order to access marks for application and analysis.

The candidate correctly identified a practical example, by showing that not being able to deliver a message might
represent a communication barrier. However, the development did not focus on how the barrier arose, instead the
candidate explained the impact on the business. The final sentence was ignored because it repeated the earlier
knowledge point. There was no contextual reference which would be necessary to be awarded the application
marks. They could have added that messages needed to be sent on time to help ensure that batch production
operates effectively.

* (e) One relevant issue was identified: ‘motivate other workers to work hard for promotion’ but this point was not
explained. The comments about ‘waste time with interviews’ and ‘provide training which would increase costs’ were
not detailed enough to be awarded marks. All employees are likely to be offered some form of training, so they
needed to state that the additional cost was related to induction training, which is only given to new employees.
The response did not include an evaluative comment. To access evaluation marks, the candidate needed to
provide a justified reason as support for whichever method they would recommend.

Common mistakes candidates made in this question
(a)

» Some candidates confused dismissal with redundancy.

» Answers lacked detail when making statements such as the ‘employee would no longer be needed’ or ‘fired’, which
did not explain the term given.

(b)

+ Some candidates made vague statements such as ‘distributor’ or ‘supermarket’.

(c)

+ Some candidates misread the question and incorrectly identified the reasons why people might leave a
business.

» Giving two points which were actually the same point expressed in two different ways.

« Ignoring the context of the question.

+ Some candidates recognised that workers ‘would not understand’, without identifying the reason why this would
happen.

» Misreading the question and focusing on ways to overcome the communication barriers identified.
+ A common mistake was not applying the points made to the given scenario.
» Explaining the impact of the barrier on the business, rather than the reason why the barrier arose.

+ Some candidates linked the answer to the scenario, but this was not required because there were no marks
available for application on part (e) questions.

+ Listing additional points instead of developing points already made.
» Some candidates offered no justification at all, or repeated earlier statements in the evaluation.

16
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Question 2

Example Candidate Response — high Examiner comments

2 Gomezis a sole trader. He provides painting and decorating services to business customers. His
business does not benefit from any economies of scale because it is small. Gomez has to pay his
suppliers within 1 month. However, he gives customers 3 months to pay. Gomez uses an old van
he has borrowed from his father to travel to his customers’ offices and shops. As the van often
breaks down, Gomez is thinking of buying a new van. A cash-flow forecast for the next 3 months
is shown in Table 2.1.

Table 2.1 ‘
Cash-flow forecast for Gomez’s business ($)
April May June
|Cashin 3000 23800 2600
Cash out 2600 3000 %
Net cash flow X (200) 200
Opening balance 200 600 400
Closing balance 600 400 600
(a) Define ‘economies of scale’, .
.Reducion._.J... m/em (A AU (YN ) (O U L,
0.crende. e 5(.0,14.‘ a\w.....mymhm ................................... This is a correct definition.
............... 5 8 Bv\K—l)Uﬁ\ngcpMmEAb\Sm\Q [2] The example is unnecessary
and does not clarify the term.
(b) Calculate Xand Y. Mark for (a) = 2 out of 2
D . 1Y
Y. ... 5?1\{99 .................................................................................................................. [2] Both values are correcﬂy
{c) Outline two factors Gomez should consider when-choosing.a source of finance for the new calculated.
van.

Mark for (b) = 2 out of 2
. ‘Factor 1: ...... . Do H\L \‘)\Ai\‘\w W&&n\)\)ﬂ“ﬂ,\/‘&{\ ..... [YON i[:g

..... Wi ity o e N PN - e

JANAYY The first factor is identified. The
C b b Somidun. oheon, Vay 9k .. b QA\&...».Y....

second sentence is not needed as it
repeats the point already made.

....................................................................................................

ol s Mece. ey need K Gonez S
LS8 Yrodex k..s ........ d» k.. Jr .. benon. gt amount..

e - o o ade AL Yo need ol
omxt’dwbw\ma\m ....... _o.\’.dSc d&l:.m...mm.s\\qxe...ssﬁ.u.g... 4]

The reference to the van is not
classed as application, because this
repeats material from the question.

Factor 2: .

The second factor is outlined.

The reference to ‘sole
trader’ shows good contextual
understanding.

This sentence is not necessary
and does not answer the question.

Mark for (c) = 3 out of 4
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Example Candidate Response - high, continued

Example Candidate Responses - Paper 1

Examiner comments

(d) Explain one advantage and one disadvantage to Gomez of being a sole trader.

Advantage: .....Con....vole QN d&@sw\‘l ....... o i
Explanation: Ixs()mu ....... N \\LW\O\KLMM&QU;\QH,\LM“
...!l.ﬁmse.......\a\nix}\....Qci\\x%....qm ..... decorolig,. Sov@.... .. hos. m.bag. e
PO PR « 'S RN e SOMw\\LwAC\&O\nﬂ
..... S
Disadvantage: \)\\\‘\“\V\:&& ...... Ve \\A\)‘\\b’\ﬁ ................................................................

Exﬁlanation: ?\SX\\&&&M ..... Q\O&\&\\t\!ﬁ ........ w... IL UYWWkBI“M&BDT ..... Be...

o AL B X\m....moxz%\x.....mwxg...i»....xzpa\v}.......M....G;me.e.
- \m*ﬂqms\h,\oemm\h\uggwwlo%

(e) Do you think asking customers to pay ‘more quickly is the best way for a small business to

improve its cash-flow? Justify your answer.
: qr»}t,w

T Jg_mm.“;b;,o. Yo Gamvez..comld. Lo Gambsoness. S Yols

W&L\o\,\o’\g,

. aureoSth Coulavnflow
o XA X RO O TG 0L OGS L0 AN

bank

oand. oo Mo ek an. cmaromeds. sabich. ot s
. N-&FWMM‘QLM th\'\"&
ard demsralad Aecuvta

QW&{%kamvmm\eunW*Sni%w‘ﬁ. ...........

..... ¥ YA»SW\QMVA%QMWWW&H\SQSM\QQV
) -0, G N entaat. Son R 0evt.. ek \\{LM@

This response is awarded one
mark for knowledge.

Reference to what the business
does is sufficient to be awarded an
application mark.

It is not clear why not having
any conflicts is an advantage to the
business. The candidate could add
here that this can lead to quicker
decision making.

This is a relevant disadvantage.

The candidate is awarded a
second application mark for the
appropriate use of the word ‘van’.

The comment linking the effect
on personal assets to unlimited
liability shows good analysis.

Mark for (d) = 5 out of 6

The candidate demonstrates an
understanding of one consequence
of asking customers to pay more
quickly.

The candidate is explaining the
impact on revenue and not cash-
flow.

The effect on cash-flow is
explained here.

Candidates can discuss
alternative ways to improve cash-
flow.

References to the context are
unnecessary as this is a general
question.

A decision is made, but this
is not supported with a reasoned
explanation.

Mark for (e) = 3 out of 6

Total mark awarded =
15 out of 20
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How the candidate could have improved their answer

(a) The first sentence provided a clear and precise definition. The question did not ask for examples, and these
suggestions could have been omitted.

(b) Both calculations were correct. It would be useful, although not always necessary, to include the dollar sign or
units for calculation questions.

The candidate identified two factors. The first factor was not well outlined, but was still clear. The answer could
have been improved by acknowledging that the business only had $600 in cash which may not have been sufficient
to buy a new van. The second factor (amount of finance) was developed in context. The last sentence could have
been omitted because the question did not require candidates to identify possible sources of finance.

(c) The candidate demonstrated good knowledge of relevant theory and made effective use of the material in
the stem to show good application. The answer was awarded all three marks for the disadvantage, because the
reference to personal assets being at risk demonstrated good analysis of unlimited liability.

(d) The candidate clearly understood that a sole trader can make all the decisions, but needed further explanation.
To improve the answer, the candidate could have said that without any conflicts, this might allow for quicker
decisions to be made.

(e) Good knowledge was evident in this response. However, only one way (bank overdraft) was developed to show
the effect on cash-flow. The first point could have been improved by stating that losing customers could result in
lower cash inflow. The candidate made a decision, but this statement was not supported by a reasoned argument.
One possible basis for an evaluative comment would be to compare the two ways discussed, and then explain why
one option would be better than the alternative.
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Example Candidate Response — middle Examiner comments

2 Gomezis a sole trader. He provides painting-and decorating setvices to business customers. His
. business does not benefit from any economies of scale because it is smali. Gomez has to pay his
-+ .suppliers within 1 month. However, he gives customers 3 months fo pay. Gomez uses an old van
he has borrowed from his father to travel to his customers’ offices and shops. As the van often
breaks down, Gomez is thinking of buying.a new van. A cash-flow forecast for the next 3 months
is shown in Table 2.1. ,
) Table 2.1 .
" Cash-flow forecast for Gomez's business ()
' Aprii | May : June
Cashin - ¢ | 3000 . . 2800 . 2600
Cashout, . 2600 . ;+’3000 Y
Netcashflow X ‘ @0 - | 200
Opening balan‘ce_‘ ’ 200 ] . ‘ 60Q ‘ 400
Closingbalance | 600 o400 © 600 The ‘economies of scale’
- o I o ) ' definition is not particularly precise.
(8) Define’sconomies ofscale’. - o - However, the candidate shows
Fcononoios. Sf...seale..ome.. e qamn‘.\:.«.’,%q,.....%&at..am. understanding by acknowledging
e " ' ., o that these are advantages gained as
......... XANALY.. . .
...gasned......b .A...:khf,.,....bu;me.ss ...... bag\mm\»\a ... expand q | the business increases the scale of
Ao S f\‘iﬁ‘\'@&‘%&% ....... ont... 5y pordaning een iy | its operations.
(b) Calculate X and Y. “ Mark for (a) = 1 out of 2
X RUNDD et The correct calculation is
awarded one mark.
Y: cFZ?OD ............................................................................................................... 2]
(c) Outline two factors Gomez should consider when choosing a source of finance for the new This answer I? incorrect
van. . because the candidate adds the two
. - V. values instead of subtracting the net
Factor 1: ....0n....... FAL)WV ...... toon\d.. e Tl cwethen he  can ) 9 )
i R cash-flow figure from the cash in
ve_m%%mvw&He,ws\’\éom’dvxﬁ&pwpofe_ figure.
ot e Xme penioe)»rﬁq,uwe&forkiw\ Mark for (b) = 1 out of 2
e .'*0 ..... V'&F&u-&%\&_ ......... W\DV\‘“&.G ............. s5assanausntnsnsenssrgdranntrnnsnnn The flrst factor |S not awarded
Factor 2: ....S@.50nX ....... o VUJO"\é\ ..... k... Xhad ey any marks because the purpose is
..... Ny ooperedod N e cbesiony Bk aglen,.... | SEed N e question
" A factor is identified but with no
hoocing . Mg SOUNER. . OF . Fnahee .. .ondh . el context
B CENPPEL ST A oI YaORey. Q.. OX s 4] o
, The candidate identifies a
relevant factor but no context is
provided. The candidate uses
appropriate references from the
scenario, such as recognising this is
a sole trader so the level of gearing
could be an important factor for
Gomez to consider, to improve the
application in their answer.
Mark for (c) = 2 out of 4
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Example Candidate Responses - Paper 1

Examiner comments

{d) Explain one advantage and one disadvantage to Gomez of being a sole trader.

Advantage: . CQ/W\ ....... k-Q&P ..................... ‘FVG’FC)‘ DUWQ(%'/ ......

. @At@pwmﬁakaa

Explanation: . f?‘@y\/\eﬂa OQ«Q% MWMM ............
mumm .......... ma.m& ..... oo ad-oik. aa ked...
. M umae... 0. he bo....
R ) O S 16]

(e) Do youthink asking customers to-pay more. quickly is the best way for a small busihess to
improve its cash-flow? Jugtify your answer.

o Dol MM%W%
ok ot Buse. (kn wﬁmtwﬁ} Mwm
ot o L C

ol Lol e Lo, i he. &W\m aﬂ»&w

20X L pocavaDads mf(?b% W‘d et imb

..... W%WW g0 . soaed . oy Con......

P A wppliod,. o WM et \S«w\m ................. avelbe
\V\P/WQMQ pes (%wsw &\2( (sl .&’emca,

M‘V\%ﬂﬁ%‘wm W MMMW;« %GE‘&]

The candidate identifies an
advantage and is awarded one
mark.

This sentence is ignored as it
explains how the business might
make a profit.

The candidate appears to
confuse profit and revenue here.
Explanations need to clearly refer to
the relevant concept to be awarded
a mark.

A disadvantage is identified.

The candidate demonstrates
analysis by stating the
consequences for Gomez’ personal
assets.

No application is shown here
because saying ‘sole trader’ is
just repeating material from the
question.

Mark for (d) = 3 out of 6

The candidate does not
demonstrate any understanding
because they mostly repeat words
from the question.

The candidate demonstrates
a good knowledge of the impact
of asking customers to pay more
quickly.

Delaying payment to suppliers
is an alternative way and is awarded
a second knowledge mark.

This sentence simply repeats
the knowledge point. The candidate
needs to develop the point to show
effect on cash-flow.

From this point onwards, the
candidate lacks focus in their
answer. The candidate discusses
ways to increase sales and the
impact on profit, but this does not
answer the question.

The candidate does not make a
final decision about whether asking
customers to pay more quickly is the
best way to improve cash-flow.

Mark for (e) = 2 out of 6

Total mark awarded =
9 out of 20
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How the candidate could have improved their answer

(a) The candidate could have developed their definition by stating that it would lead to lower average costs, rather
than adding an example which did not explain the term.

(b) The candidate only correctly calculated one of the values. To improve, the candidate needed to use the correct
formula for cash-flow forecast.

(c) Although the candidate showed good knowledge of factors, there was no contextual reference to link the points
to the scenario. The candidate could have improved their application in this answer if they had used appropriate
information provided in the stem, such as ‘it was a painting and decorating business’ or ‘as a sole trader he was
personally liable for the business debts’, which would then link to why the level of gearing needed to be considered
when choosing a source of finance.

(d) The candidate needed to develop both points and make appropriate references to the context. The attempted
development of the advantage is vague and appeared to be confused about the difference between profit and
revenue. To improve, the candidate could have explained how profit could act as an incentive to encourage him to
do better or as a way to measure the success of his small business or linked the possible loss of his home to the
debts of his painting and decorating business.

(e) The candidate was awarded two marks for knowledge, but both points lacked the necessary development to
show the impact on cash-flow. The candidate could add that extending the time before the business had to pay its
suppliers to three months could delay cash outflow. The answer then lost focus and made vague statements about
the impact on sales and profit. The question asked for a decision, but the candidate did not offer one. This limited
the number of marks that the candidate could be awarded.
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Example Candidate Response — low

2 Gomez is a sole trader.-He provides painting and decorating services to business customers. His
business does not benefit from any economies of scale because it is small. Gomez has to pay his
suppliers within 1 month. However, he gives customers 3 months.to pay. Gomez uses an old van
he has borrowed froms his father to. travel to his customers’-cifices and-shops. As the van often
breaks down, Gomez is thinking of buying a new van. A cash-flow forecast for the next 3 months
is shown in Table 2.1. - . NN Lo

-

S « .- Table 21

‘ .. Cash-flow foregast for G_omez’s\busine'ss @ : B
April ‘ Max Juhe
Cashiin 3000 2800 T 2600

Cash out 2600 3000 |7 Y
Net cash flow X - (200) ' - 200
Opening balance 200 - - 600 400
Closing balance 600 ‘ 400 600

(a) Define ‘economies.of scale’.

Eznmﬁu&&:ﬁ%aﬂ@mm&\mm ......

cechn : o
W\%Mmbw\m& ........ SON.... UDCe..........
..... Yo.. Incsteone. @ra%&&cnduzwe,mgxm 2]

(b) Calculate Xand Y.

X: v—ércve—g(.qoﬂ ....... A

(c) Outline two factors Gomez should consider when choosing a source of finance for the new
van. X

Factor 1: (oSt .af. 14 Now.. . LE. e Mo i veny. gXpensive
he...showd. Yake..a. dseadtem \oown Brom fus. . bank...
Tos. A becade. me . wond nek. ke a0, ofond...
ip....\mj...‘.’\k,. ..... DO BrS. SONeA. FeXUS S et
Factor 2: pva’%\hba\‘(\gwod&&ﬁ?x’o?\h@qunw»)\«x
Showld. ek . long A leqn. TS mady e

omlel. e abts. do e i . Homey . .
hfb\u‘\})mﬁm SOOI O S S e 4]

Example Candidate Responses - Paper 1

Examiner comments

The candidate does not
demonstrate an understanding
of ‘economies of scale’: the term
should refer to the impact on
average costs, and not profit.

Mark for (a) = 0 out of 2

This is incorrect because X is
not a negative value.

The candidate has incorrectly
added the two values together
rather than subtracting $200 from
$2600.

Mark for (b) = 0 out of 2
The first factor is identified.

The reference to the van is not
classed as application, because this
repeats material from the question.

This is ignored because the
question does not ask candidates to
identify possible sources of finance.

The comment about profits
made is not clear and the following
sentence implies that the candidate
is identifying a source of finance,
rather than a factor.

Mark for (c) = 1 out of 4
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Example Candidate Response - low, continued

(d) Explain one advantage and one disadvantage to Gomez of being a sole trader.

\ \ X : )
Advantage: ﬁ\igiﬁ@mm%%umed .........................................

v

Explanation: omeL's. oty ssurs o | fnane vs WS suo..
movey...o%. bank. .. loa.. ot e Ny . VLI SIS
TE.. he..0ad...palnexs..of. o gival.. R Lom o, Aher.
womlel e MOIE. meney.. VAR QL INerC....a1s. patnen. QL SFard, (6]

(e

~

Do you think asking customers to pay. more quickly is the best way for a small business to
improve its cash-flow? Justify your answer.

B v....ﬂh’sf\..&.fna ...... o ki cottomenx. Yo pay. este_
‘.;o).\:?e)f\\a...:dﬂ\ ...... d eﬁn&*\gﬁm\:m%eﬂmkf\owx\ﬁﬁdr
gg%g\oqsﬁnesswm\“ ....... Yo .on.... Q@\v«h‘bﬂe,, .......
o omez ... BoV A6 ooz, sk .. pag.. mo%...
Q,V‘(Q)(\‘é ..... m%&@mum%m?a\ts\m‘ﬁ‘h
e Yokresses. .. W00 S wwove.....Credik. oonth....

....... %%M&oWZ%u\A\@(kﬁw;\nm%o
po»% ..... ™ mcl\?\d(\aw‘\m%\cofmess)scg&\ .......

4’ -

U owodos A8 ke and o Qo g.fs‘.{i‘.‘....pmmi’ ........ [6]
zeaspetend Accounty . .

Example Candidate Responses - Paper 1

Examiner comments

This answer does not clearly
identify what the advantage is.

The candidate correctly
identifies a disadvantage, so is
awarded one mark.

The candidate repeats the
knowledge point so is not awarded a
mark for development.

Mark for (d) = 1 out of 6

A decision is made, but is
unsupported at this point.

The candidate identifies a
disadvantage of asking customers
to pay more quickly, so is awarded
one mark.

In this part of the answer, the
candidate is largely repeating points
already made.

This statement adds nothing
to the answer because it is unclear
what the candidate means by ‘cash
flow status is weak’ or how it can
‘damage it financial accounts’.

Mark for (e) = 1 out of 6

Total mark awarded =
3 out of 20

How the candidate could have improved their answer

¢ (a) The candidate did not demonstrate an understanding of economies of scale.

* (b) The candidate tried to calculate net cash-flow (X), but presented the answer as a negative value. The
calculation for Y was also incorrect, because the candidate added the value of net cash-flow to cash inflow, rather
than subtracting it to calculate cash outflow. The candidate needed to check all calculations to ensure the correct

formula was used.

* (c) The candidate correctly outlined one factor (cost) for Factor 1, but application marks could not be awarded
because the reference to ‘van’ just repeated words from the question. The candidate could have linked their
answer to the financial data in Table 2.1, such as the value of net cash-flows each month to highlight why cost had

to be considered.

The answer given for Factor 2 lacked clarity. The second sentence discussed whether profit should be used as
the source of finance, but this was not what the question asked. The answer could have been improved if the

candidate had added that profit was the amount of money available to invest.

¢ (d) The candidate identified a disadvantage and was awarded one mark for this, however, it lacked application
and analysis. Instead of development, the candidate repeated the knowledge point. They could have explained
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how having less finance could make it difficult for the business to fund their expansion. The candidate could add
that the business needed finance because it was planning to replace the old van, and then they could have been
awarded an application mark. The advantage was not clear enough, because the answer attempted to discuss who
was involved in decision-making in other forms of business organisation. The answer could have been improved if
the candidate had added specific features of a sole trader, such as ‘freedom to choose his own holidays’ or ‘having
total control over decisions’.

* (e) The candidate stated their decision at the beginning of this answer. There is nothing wrong with doing this,
however, because they hadn’t yet justified their decision, it could not be awarded any marks. The candidate
was awarded one mark for identifying a disadvantage of asking customers to pay more quickly. However, the
development was not awarded any marks because it discussed the potential impact on market share, and not
cash-flow. The rest of the answer repeated the earlier point, or made vague statements about the status of the
cash-flow of the business.

Common mistakes candidates made in this question
(a)

+ Some candidates were not precise enough when writing definitions.

+ Some candidates stated ‘it would result in lower average costs’ without providing an explanation about how this
would be achieved.

» Giving vague statements about the advantages of the business being big, rather than it increasing in size.

» ldentifying examples instead of giving a definition of ‘economies of scale’.

(b)

* Not representing the values as positive numbers in this calculation.

+ Adding the value of net cash-flow to cash inflow, instead of subtracting it.

(c)

+ Some candidates used the same references from the stem of the question as their application to support the points
made.

+ A common mistake was that candidates identified possible sources of finance, but this did not answer the question.

(d)

» Some candidates did not link their answers to the context, so could not be awarded the application marks.

+ Some candidates did not develop the points they made to show how these represented an advantage or
disadvantage to the business.

» Instead of developing a point they had made, some candidates instead identified another point, or repeated the
knowledge point.

+ Some candidates stated ways which would improve cash-flow, without explaining the direct effect on cash inflow or
cash outflow.

» Discussing the impact on sales or profit, rather than on cash-flow.
» Discussing the reasons why cash-flow was important, but this was not what the question asked for.
» Some decisions were unsupported, or just reiterated the points previously made in their answer.

+ Some candidates answered the question based on the scenario, rather than from the viewpoint of small
businesses in general.
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Question 3

Example Candidate Response — high Examiner comments

3

Globalisation has changed the way many businesses operate. VKW makes cell (mobile) phones.
It uses just-in-time inventory control. VKW exports 40% of its products. It imports most of its raw
materials to help reduce total costs. Ali 800 of VKW's employees understand the importance of
quality assurance. The Operations Director has asked all suppliers to ensure they do not use child
labour. She is also concerned that many governments are planning to increase import controls
such as quotas.

(a) Define ‘globalisation’.

(b) State two advantages to a'busiriess of using quality assurance.
Advantags 1%&?&1&8&%%%%&@6&’% ......
. AU\;aﬁtage 2 m@ﬁf&lwc&gt@me}qniwpectéy
..I&.‘..mzrb...n.aed.ed..ta..be;.mxeé...Qnd.,qz‘edm.r‘;...is.‘.cbepﬁed..@..wp/a‘yms 2]
itgelf-

(c¢) Outline two ways VKW might be affected by increased import controls.

bl codd Lehp. Shem encompelihiven.

................................. [ QIO TN IR A A0 AT A4

This is a clear and precise
definition.

Mark for (a) = 2 out of 2

The candidate identifies the first
advantage.

Although stating ‘lower costs’
could be seen as a repetition of
Advantage 1, the statement about
an inspector not being needed
clearly means that this is a different
issue.

Mark for (b) = 2 out of 2

The first way is outlined. The
reference to cell phones shows
good contextual understanding.

This part of the answer is
unnecessary and adds nothing to
the mark already gained.

A second way is stated but is
not applied.

This sentence is not needed
as the question does not assess
analysis.

Mark for (c) = 3 out of 4
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Example Candidate Responses - Paper 1

Examiner comments

(d) Explain one advantage and one disadvantage to VKW of using just-in-time inventory control.

Advantage: ..... E f—ém%&h“o\ﬁ‘j@@&"‘i .......... *’\V@T\W\"J, ........................

Lo\ sawer Mg strrame coen wwwthJumPoWM
ondh. A Samished predects T sl 2bse. Sowee.. . Spaée....
tm&xo%mc)rw?w&f%%@@\m efﬁ,&owﬂf}m%acwriwawmv«

in g\wra\@ e

(e) ‘Do you think that businesses should.be concerned about ethical issues such as child labour?
Justify your answer.

............................................................................................................................

oot ety M dhey vuank chreaper B prices se Sales cadd lowes:
IV\ Q@WO\,\J‘&.\W\Jf} Fanke View dhou\d e, chhical a8 YR dhe r}-al,\j‘ dL\M%\
to do-

The candidate shows
knowledge of an advantage here.

This sentence repeats the
advantage given previously.

Reference to raw materials
is vague. The candidate could
acknowledge that these materials
are imported to be awarded an
application mark.

Additional advantages are
identified but not needed because
the knowledge mark is already
awarded.

The candidate identifies a
relevant disadvantage.

Explaining the impact on
production shows good analysis, but
without application.

Mark for (d) = 3 out of 6

The candidate identifies an
advantage of being ethical.

The candidate gives a clear
explanation which shows that the
company could gain a positive
image by not using child labour,
which could lead to more sales.

A second issue (price) is
identified.

It is unclear what the candidate
means by this statement. They
need to explain why it might not be
worthwhile.

This sentence builds on the
earlier point about price and
discusses the negative effect of
setting higher prices. The candidate
shows good understanding of the
issues.

The candidate makes an
unsupported decision.

Mark for (e) = 4 out of 6

Total mark awarded =
14 out of 20
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How the candidate could have improved their answer

(a) This was a good example of a clear and precise definition.

(b) The candidate identified two advantages. The comment about low cost was not very precise, but the candidate
demonstrated their understanding when they referred to ‘inspection’. A simple statement such as ‘reduce inspection
costs’ would have been enough to be awarded the mark.

(c) Although the candidate showed a good knowledge of the effects of an increase in import controls, only one

of the answers was in context. Application could have been improved if the candidate had used the information
given in the stem. For example, ‘increasing their prices might make it difficult for a business that exports 40% of its
products to compete in other markets’.

A succinct answer which briefly outlined two ways in context was all that was required for this question. There was
no requirement to extend the answer to include analysis.

(d) The candidate was awarded one mark for the advantage, but was awarded no marks for application or analysis.
They could have shortened their answer: the comments about ‘saving space’ and ‘reducing damage’ were not
needed because the question only asked for one advantage.

To improve their answer, the candidate could have developed it to explain how using ‘just-in-time inventory control’
might allow the business to operate with a smaller warehouse, and this might result in lower storage costs. The
reference to raw materials was vague. If the candidate had said that the raw materials were imported, then this
would have been an appropriate use of the case study information.

The candidate explained their chose disadvantage well: the effect of not having a reliable supplier on a business,
but they gave no context.

(e) The candidate produced some good analysis of possible advantages (positive image) and disadvantages (high
price) of being ethical. They made a decision, but there gave no supporting reasons to back up this statement.
There were a number of vague statements such as ‘worthwhile’, ‘more profitable’ and ‘do the right thing’, which
needed further explanation. The candidate could have linked some of these ideas together to form a basis for an
evaluative comment, for example, ‘doing the right thing could further enhance a business’ image. This might help
offset any potential loss of customers due to the high price, and this might help businesses remain profitable’.
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Example Candidate Response — middle Examiner comments

3‘

Globalisation has-changed the way-many businesses operate. VKW makes cell (mobile) bhoves.
It uses just-in-timé inventory y control. VKW exports 40%.of its products. It imports most of its raw
materials to.helg réduce total costs. All 800 of VKWS employees understand the_importance of
quality assurance. The Operations Directorhas asked all suppliers fo ensure they do.not use ghild,
labour, She is also concerned that many governments are planning to increase import.controls

such as quotas.

" (a) Define ‘globalisation’.

(b) State'two advantages to a business of using quality assurance.

Advantage 1: NOV f"&é%‘wh)))jﬂb\'ﬂ hﬁlgbol}%bckﬂng’{”h

M}/jpb‘f .................. et eeee e e
Advantage 2: Redu@d Wmmg/e ..................................................................

(c) Outline two ways VKW might be affected by increased import controls.
way 1: K8 pnoduch. @ A kb S IOl ek LA ..

AV AU bupplig. 0. e and Ancasosed LORACK
S pay mord A thap bafpre.

Way 2:

1 p(f%
WU M ke prfup Wgh b cet equdibriu, so Loy
SaID pAVENAL LoARL)] -

The candidate gives a partial
definition and is awarded one mark
for understanding that globalisation
involves worldwide trade.

Mark for (a) = 1 out of 2

The candidate is awarded
one mark for giving a relevant
advantage.

Mark for (b) = 1 out of 2

The candidate outlines Way 1,
however, the development is vague
and does not connect the point to
the scenario.

The candidate outlines Way
2. As before, there is no link to the
context, although the development
could form part of an explanation.

Mark for (c) = 2 out of 4
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Example Candidate Responses - Paper 1

Examiner comments

(d) Explain one advantage and one disadvantage to VKW of using just-in-time inventory control.

...........................................................................................................................................

Explanation: TMSPOMDV\QQ‘“\_VW“%
BTV V3 e ond Ao monulack-
MV\%MPmnd}—{‘oomMWe.

.............. TV L oo eevevensseseseesesesesesessenssssesesssseesesesssssesssnssesessseseesereresesecessnsns[6]

(e) Do you think that businesses should be concerried about ethical issues such as child labour?
Justify your answer.

The candidate identifies a
relevant advantage.

The point is not developed,
because the candidate repeats the
advantage which has already been
awarded a mark.

The candidate states a
disadvantage.

The explanation mostly repeats
the point already made.

There is no contextual reference
in the answer, so the candidate is
not awarded any application marks.

Mark for (d) = 2 out of 6

The explanation is not
very precise, but the candidate
demonstrates understanding
when they refer to the effect of an
increased reputation on sales.

The reference to fines is not
relevant because this is a legal
issue and does not answer the
question.

The second part mostly repeats
points already made and so is
awarded no further marks.

The candidate makes a decision
which restates points already made.

Mark for (e) = 2 out of 6

Total mark awarded =
8 out of 20
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Example Candidate Responses - Paper 1

How the candidate could have improved their answer

(a) This answer showed some understanding of the term ‘globalisation’. The candidate could have improved their
answer by adding that it involved trade between countries.

(b) The candidate correctly identified one advantage (reduce wastage). The comment about ‘notify errors instantly’
needed to be clearer because it implied less wastage, which is a repetition of the second advantage identified.
Although ‘know what stage mistakes may be happening’ is classed as a separate point, it was not clear that this
was the point being made. While it is not necessary to match the exact wording used in the mark scheme, it is
important that the meaning is clear.

(c) The candidate correctly identified two relevant ways, but made no application. A reference to the case study
was needed in each response. For example, the candidate had needed to link the point about ‘less products’ back
to the ‘800 employees who might have less work to do as a result of the business having fewer raw materials’.

(d) Although the candidate showed a good understanding of ‘just-in-time inventory control’, analysis and application
were not developed in their answer. Both of the attempted explanations repeated the knowledge points. The
analysis could have been improved by showing how reduced storage costs and delay in delivery might benefit or
disadvantage the business. The candidate could have contextualised the points they made by making appropriate
references to the scenario, such as ‘the business makes cell phones’.

(e) The candidate was awarded two marks for demonstrating analysis in the their point about the advantage of
having an increased reputation, but this is the only relevant point discussed. The candidate could have explained
how this improved reputation could help attract investors, or discussed problems such as increased costs
associated with being ethical. There was some irrelevant material in the response, but this was ignored. The point
about fines identified a legal issue. As every country has different legal controls, these sort of answers were not
allowed. The candidate made a decision in the last sentence, but this simply repeated the points they had already
made.
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Example Candidate Response — low

3 Globalisation has changed the way many businesses operate. VKW makes:cell (mobile) phones.
It uses just-in-time inventory control. VKW exports 40%.of its products. It imports most of its raw
materials to help reduce total'costs. All- 800 of VKW's employess understand.the importance of
quality assurance. The Operations Director has asked all suppliers to ensure they do not use child
labour. She is also concerned that many governments are planning to increase import controls
such as quotas.

L !

(a) Def ne globalssatlon
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(b) State two advantages toa busmess of using qualxty assurance.
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(¢} Outline two ways VKW might be affected by increased impoft ‘controls. '
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Example Candidate Responses - Paper 1

Examiner comments

The candidate does not show an
understanding of globalisation in the
first sentence. The second sentence
is not necessary because it identifies
reasons, rather than a definition.

Mark for (a) = 0 out of 2

No marks are awarded here
because the candidate confuses
quality assurance with the reasons
why quality might be important.

This statement is vague. There
are many reasons for having more
customers. The candidate needs
to clearly link this point to quality
assurance.

Mark for (b) = 0 out of 2

The candidate shows knowledge
of a relevant issue, but no application
because the point is not linked to the
context.

This answer is incorrect because
the candidate confuses two different
types of import controls here. Tariffs
affect the price and not the quantity.

Mark for (c) = 1 out of 6
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Example Candidate Response - low, continued

(d) Explain one advantage and one disadvantage to VKW of using just-in-time inventory control.
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(e) Do you think that businesses should be concerned about ethical issues such as child labour?
Justify your answer,
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Example Candidate Responses - Paper 1

Examiner comments

The candidate identifies two
advantages. This is unnecessary
because there is only one
knowledge mark available in this
part of the question.

The focus here should be on
explaining the advantage of lower
inventory costs or lower storage
costs, not on the quality or quantity
of products made.

This point is not clear enough.
The candidate needs to state
why this method could be time
consuming. Statements such as
faster / slower / cheaper / expensive
need further explanation to be
awarded any marks.

This sentence implies the
impact on customers and not the
business.

To improve the answer, the
candidate needs to show a clear link
between the lack of stock to meet
unexpected orders and reduced
sales.

Mark for (d) = 1 out of 6

The candidate identifies
a relevant advantage of being
ethical, but the answer lacks clear
development. The candidate could
suggest that the increased brand
loyalty may result in higher sales
and increased revenue, then this
answer would have show good
analysis.

This point needs to be clearer
to show how, or why, it would be
expensive.

This statement alone is not
enough to be awarded a mark
because it is unclear whether this
is a benefit or limitation of being
ethical.

The candidate’s decision in
this statement is not supported by
the points they make earlier in the
answer.

Mark for (e) = 1 out of 6

Total mark awarded =
3 out of 20
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How the candidate could have improved their answer

* (a) The candidate showed that they knew some possible reasons for globalisation, but this was not enough to be
awarded a mark. The candidate needed to define globalisation to be awarded a mark.

¢ (b) The candidate did not answer the question and appeared to be confused about quality assurance. They
identified some reasons why quality was important, but this was not what the question asked for. The second
answer given was vague: there are many reasons for having more customers. The candidate needed to link this
point to quality assurance.

¢ (c) The candidate confused two different types of import controls in Way 1. To gain knowledge marks, they could
have added that a tariff could increase prices, or that a quota would limit the number of goods the business was
allowed to import. The candidate was awarded one mark for Way 2, but the answer did not link to the scenario. The
candidate could have added context to their answer by stating that the restriction was due to an import quota.

¢ (d) The candidate identified two advantages: reduced inventory cost, and reduced storage cost, however this was
unnecessary because the question only asked for one. To improve their answer, the candidate needed to develop
their explanation of one of the points they included. For example, a lower inventory cost might help improve
working capital. The comments about quality and number of products did not link back to either cost issue, and an
appropriate reference to the case study was also needed.

The disadvantage given was not clear enough: the candidate needed to state why this method could be time
consuming. Vague statements about time and cost needed further explanation to be awarded marks. To improve
their answer, the candidate could have made it clear why this method would be time consuming, or explained the
reason why the business would not get the urgent products (because just-in-time inventory control means the
business does not hold extra stock, and as a result this leads to reduced sales).

* (e) The candidate gave a relevant advantage of being ethical, but the development needed to be clearer. To
improve their answer, and show good analysis, the candidate could have added that the increased brand loyalty
might result in higher sales and increased revenue.

The second part of the answer contained some vague statements, for example ‘would turn out to be expensive’
and about consumers being sensitive to high prices, although further explanation would have improved the answer.
For example, the candidate could have added that customers may not be able to afford to pay higher prices so

the ability to charge higher prices may depend on what and to whom they are selling to. The candidate needed to
explain the points they made in a clear way, because some points may seem incorrect without this.

Common mistakes candidates made in this question
(a)

+ Some candidates lacked precision when providing definitions.

» Confusing the term ‘globalisation’ with a multinational company or an export business.

(b)

» |dentifying general advantages of why quality was important.

» Discussing the advantages to customers, and not the business.

» Some candidates defined the term ‘quality assurance’, which did not answer the question set.
(c)

« Ignoring the context of the questions, so answers could refer to any business.

(d)

* Repeating the same application for both points, so were only awarded one mark.

+ Some candidates identified, but did not explain the points they made to show the effect (how or why) of this on the
business.

+ Some candidates based their development points on unsupported assumptions about the possible impact on profit.
(e)

» Confusing legal and ethical issues.

» Discussed the ways a business could behave more ethically, or why using child labour was unethical.

« Some candidates did not develop their points to show the effect (how or why) of this on the business.

+ Some candidates did not offer a final decision. If they did, their final decision needed to be supported.
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Question 4

Example Candidate Response — high

Examiner comments

4  WFGis a private limited company in'country.X..lt owns 120 supermarkets, of which 20 are operated
as franchises. One of WFG's objectives is to expand by opening 30 more shops in the next 18
months. The Managing Director said: ‘Market research-shows that fewer people are going to the
local. markets every day to buy their food. It is important for us to set prices at the right level.’ The
Managing Director is thinking about whether to introduce new technology into the business.

(a) Define ‘market research’.

....................... Matheh reseach snwolves_ guthesing , anmlyning,, ood dofupeeh

........................................................................................................................................... 2]
(b) State two objectives (other than expansion) a business might have.
Objective 1Pm-ﬁt ...............................................................................................
Objective 2i........ AN
........................................................................................................................................... [2}

(c) State four factors a business should consider when deciding the price of a product.

mme+6%\mohofdtghcjmgmfzehhamj ...... 4]
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The candidate gives a correct
definition.

The second sentence is not
needed because examples do not
define the term.

Mark for (a) = 2 out of 2

The candidate identifies two
relevant objectives.

Mark for (b) = 2 out of 2

The answer to Factor 1 is not
clear enough: the candidate needs
to clarify what they mean by this
statement.

Factor 2 is correct.

The candidate shows relevant
knowledge.

‘Nature of the market’ is
not detailed enough, however,
the candidate demonstrates an
understanding of the factors with
their reference to competition.

Mark for (c) = 3 out of 4

35




Example Candidate Response - high, continued

Example Candidate Responses - Paper 1

Examiner comments

(d) Explain two factors WFG should consider when deciding whether to introduce new technology
into its business. )
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(e) Do you think selling franchises is a better way for a retail business to expand than opening
more of its own shops? Justify your answer.
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Factor 1 is identified.

The candidate makes a good
contextual reference.

Good analysis is shown.

A second factor is identified but
not applied. No marks are awarded
for the development of the answer
because the reference to output
suggests that the business is a
manufacturer and not a retailer.

The use of ‘value of output’
is not detailed enough because
it suggests that the business is a
manufacturer. The development
repeats the knowledge point and
does not explain why the factor
needs to be considered.

Mark for (d) = 4 out of 6

The first knowledge mark is
awarded.

This sentence makes a similar
point, so no further marks can be
awarded.

The candidate makes a simple
analysis of how the fee received by
selling franchise licences benefits
the franchisor.

All the references to WFG were
ignored because this question does
not assess application.

The second knowledge mark is
awarded.

This part of the analysis repeats
a point already made earlier in the
answer.

The candidate makes a
decision, but this is not supported.
The candidate does not show why
selling franchises has a reduced risk
of failure.

Mark for (e) = 3 out of 6

Total mark awarded =
14 out of 20
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How the candidate could have improved their answer

(a) The first sentence was enough for a full definition. The answer could have been shorter because examples are
not needed when the question asks for a definition.

(b) Two objectives were identified, so the candidate was awarded two marks. This was a good example of a quick
answer. There would be no need to offer any further detail for this type of question.

(c) The first answer given, ‘nature of the product’ needed to be more specific. For example, the candidate could
add that if the product was unique or had a brand image this could help decide it's price.

(d) The candidate showed good context and analysis of Factor 1. Factor 2 (how expensive the technology is) was
not developed because the reference to the value of output implied that the business was a manufacturer, and not
a retailer. The candidate could have improved their answer if they had explained that the technology was to be
used in its 120 outlets, and that the business might not be able to afford the technology at the same time as trying
to fund expansion. This would have shown good analysis and application.

(e) The candidate showed good knowledge of the advantages of selling franchises. However, only the point about
purchasing a licence was developed in their answer. The references to WFG were ignored. To improve their
answer, the candidate could also have considered the possible advantages of opening more of its own shops, as
well as the disadvantages of selling franchises. Having a balanced discussion could also have helped form the
basis for their final decision. The candidate made a decision but it was not supported by the points discussed in the
answer. They needed to build on the earlier analysis, and show why selling franchises is a better option than the
alternative.
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Example Candidate Response — middle Examiner comments

4

'WFG isa.private limited company:in country X. It owns120 supermarkets, of which.20 are.operated

as franchises. One of WFG's objectives is to expand by opening 30 more shops in the next 18
months. The Managing Director said: ‘Market research shows that fewer people are going to the
local markets evéry day to buy:theit food. It is important for us to sét prices at the rightlevel.’ The
Managing Director is thinking ‘about whether to introduce new technology lnto the Business.

(a) Define ‘market research
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(b) State two objectives (other than expansion) a'business might have.
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{c) Staté four factors a busingss should cohsider when deciding the-price of a product.
Factom..lé.ﬁ!.lﬁ ..... f’. (e blch. Cnsumels. . af.....i..
........ willing 1o Pz P
Factor 2CDW50(M€F5«W\€/ ..................
4w46mw\4 ............................
Factor BCOVV)P‘BTH[VQ/ ..... P .ﬂL(.ﬂ.@: ................................. N e
-4k other . busTness. ok freduct .. 103, .ﬁm...”.“..e..f?fﬁs!...‘(‘:.:&?.’tﬂ?iffﬁ st
Factor 4:...Y. HCQ ...... Sklw\mll’\ ettt et s eresee e er e s e s es e dee s e e nae s
........................................................................................................................................... 4

The candidate gives a partial
definition and understands that
market research involves finding out
about ‘customer needs and wants’.
The second part of the definition
adds nothing to the answer.

Mark for (a) = 1 out of 2

The candidate identifies
Objective 1.

This answer is not detailed
enough. ‘Economies of scale’
implies growth, which the question
does not allow.

Mark for (b) = 1 out of 2

Factor 1 is stated.
Factor 2 is arepetition of Factor 1.

The candidate is awarded a
mark because they understand
that competitors are a factor when
deciding the price of a product.

Factor 4 identifies a pricing
method which does not answer the
question.

Mark for (c) = 2 out of 4
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Example Candidate Response — middle, continued

(d) - Explain.two factors WFG should consider when decidingwhether to |ntroduce new technology

into.its business.
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Example Candidate Responses - Paper 1

Examiner comments

The candidate identifies the first
factor.

The explanations repeat the
knowledge point already made.
The candidate should show why
the cost might be important, when
deciding whether to introduce new
technology.

The answer doesn’t give any
context for this statement.

Factor 2 is identified, but not
developed.

This answer is not awarded an
application mark because there is
no attempt to link the answer to the
scenario.

The candidate focuses on why
the employees might need training,
which is not really what the question
is looking for. They could develop
the point to explain how either the
time, or cost, of training might affect
the business.

Mark for (d) = 2 out of 6
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Example Candidate Response — middle, continued Examiner comments

(e} Do you think selling franchises.is a better way for a retail:business t0.expand than opening
more of its own shops? Justify your answer.

W“%&e”ﬂwwmh&a\W’-wooo'c\*w .......
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This part of the answer is
ignored because the candidate
confuses the role of franchisor and
franchisee.

This statement is not detailed
enough, because it doesn’t explain
why WFG’s brand image would
lower.

This statement needs further
clarification. Keeping all the profits
can be an advantage of opening
more of its own shops, however, the
candidate does not make this link.

The candidate demonstrates
knowledge of relevant issues, but
instead of developing these, they
identify another point.

A second knowledge point is
made, but the candidate does not
develop this with an explanation.

It is not clear how or what costs
would be saved.

No marks are available for
linking points to the scenario in the
part (e) questions.

Mark for (e) = 2 out of 6

Total mark awarded =
8 out of 20

How the candidate could have improved their answer

(a) The candidate needed to provide a full definition of ‘market research’. They needed to develop their answer
to show that they understood it is a process of gathering, analysing and interpreting information about customer

needs and wants.

(b) The first objective given (maximise profit) was correct. The second answer (increase economies of scale)
was vague because it implied growth, and this type of answer was excluded by the question. It is important that

candidates read the question carefully.

(c) The candidate was awarded two marks for identifying two factors. Factor 2 repeated the answer given in Factor
1, and marks had already been awarded for this. It is important that all answers clearly discuss different factors.
The answer given for Factor 4 was incorrect because the candidate gave a pricing method, which is not what the

question asked for.

(d) Two factors were identified: cost and training. However, these were not explained and there was no attempt to
link the points to the context. Following ‘new technological equipment’ the candidate could have acknowledged that
the business had 120 shops, and therefore training every employee could significantly increase its expenses.

(e) The candidate confused the role of the franchisor and franchisee, so the first part of the answer was ignored.

The candidate also made some unnecessary references to the context. They did identify two relevant issues, but
development of these two points was needed to be awarded the analysis marks. They could have referred to the
fact that because the franchisor did not have to look for as much finance, this could help a retail business expand
more quickly. The decision offered an opinion, but this needed to be a reasoned judgement.
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Example Candidate Response — low

4

WFGiis a private limited company in:country X. It owns 120 supermarkets, of which 20 are operated
as franchises. One of WFG'’s objectives is to expand by operiing.30 more shops.in the next 18
months. The Managing Director said: ‘Market research shows that fewer people are going to the
local markets every day to buy their food. It i§ important for us to set prices at the right level.’ The
Managing Director is thinking about whether to introduce new technology into the business.

(a) Define ‘market research’.
\'\(\M?S'\?Q‘S; Sedocscl

(b) State two objectives (other than expansion) a business might have.
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(c) State four factors a business should consider when dediding the price of a product.
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Example Candidate Responses - Paper 1

Examiner comments

The first part of this answer
reuses the words ‘market’ and
‘research’. The candidate needs to
show that they know what the term
means. The comments about the
market ‘going down’ and ‘people are
happy’ are not detailed enough to
be awarded any marks as a partial
definition.

Mark for (a) = 0 out of 2

This answer is not detailed
enough and is an example of growth,
which is excluded by the question.

The candidate does not provide
an answer for the second part of this
question. This automatically limits the
marks that can be accessed.

Mark for (b) = 0 out of 2

The candidate understands
that the idea of how much people
are willing to pay is relevant, so is
awarded one mark for this point.

Factor 2 is too similar to Factor 1,
so cannot be awarded a further mark.

It is unclear which factor is being
suggested here.

The answer is not detailed
enough. The candidate could say that
the pricing needs to take account of
the cost of making the product.

Mark for (c) = 1 out of 4
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Example Candidate Response - low, continued

Example Candidate Responses - Paper 1

Examiner comments

(d). Explain two factors WFG should consider when deciding whether to introduce new technology.
into its business.
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(e) Do you think selling franchises is a better way for a retail business to expand than opening
more of its own shops? Justify your answer.
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This is not a detailed enough
answer to cover the idea of
efficiency. The candidate discusses
the same point in both Factor 1 and
Factor 2. This part of the answer is
not as strong, because it lacks the
correct terminology.

The candidate identifies a
relevant factor and is awarded the
knowledge mark.

The candidate could have
stated ‘average cost’ instead of
‘total cost’, and then could have
been awarded a further mark for this
answer.

The candidate does not link
the answer to the scenario, so the
answer misses out an an application
mark here.

Mark for (d) = 1 out of 6

The candidate demonstrates
their knowledge of a relevant issue,
but this is not explained further.

In the second part of the
answer the candidate makes some
vague comments about franchising,
so does not demonstrate an
understanding of the topic.

‘New ideas’ is not a recognised
benefit of franchising.

Mark for (e) = 1 out of 6

Total mark awarded =
3 out of 20
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How the candidate could have improved their answer

* (a) The candidate needed to accurately define the term ‘market research’. The first part of the answer reused
the words ‘market’ and ‘research’, but the candidate needed to show that they know what the term means.

The candidate included examples of the type of information gathered, but these needed to be more precise.
Sometimes, examples can help show understanding, but often, as in this case, only clear knowledge will gain
marks.

¢ (b) The first answer attempted to identify an example of expansion (more local shops). However, this objective
was excluded by the question. The candidate did not attempt to identify a second objective, so this response was
awarded no marks. It is always better to make an educated guess than not attempt a question at all.

¢ (c) This candidate was awarded one mark for Factor 1. Factor 2 mostly repeated Factor 1 because it seemed to
suggest that price could depend on how much customers are willing to pay. The answer given for Factor 4 needed
to be clearer about what could be considered a suitable price. To improve their answer, the candidate could have
added that the business might want to take the cost of production into account.

¢ (d) The candidate identified the same point for both factors. The second factor was the stronger answer so this was
where the knowledge mark was awarded, but there was no development or application of this. The candidate could
have been awarded an analysis mark if they had said that efficiency could have resulted in lower average (or unit)
costs. The candidate needed to refer to the number of shops, or recognise that the business sold food to improve
application marks.

* (e) The comment about ‘open a new shop which might cost more’ was the only relevant issue identified. The
candidate needed to include more detailed points and show their understanding of franchising, this response
included vague statements about brand image and new ideas. The candidate could have improved their answer
by referring to specific advantages and disadvantages of franchising. For example, the franchise having to pay a
fee to use the brand name, while wrong decisions made by a franchisee can damage the reputation of the whole
business. The candidate needed to develop each point before making a decision, which directly answered the
question.

Common mistakes candidates made in this question
(a)

* Rather than defining the term ‘market research’, some candidates identified why market research was collected.
+ Some candidates gave examples, but these did not explain what market research is.

(b)

» Giving similar points that were expressed in two different ways.

(c)

» Rather than identify four different factors, some candidates repeated similar points.

(d)

* Instead of providing an analysis, some candidates repeated the knowledge point they had made, or identified
another factor.

+ Some candidates misread the question, and incorrectly assumed that the business was a food manufacturer, or
that the supermarket was selling the technology to its customers.

(e)
+ Some candidates did not develop the points they made to show the effect of them on the business.
» Answering the question from the viewpoint of a franchisee.

» Some candidates did not reach a final decision in their answer. Others offered a final decision but didn’t support it
in the rest of their answer.
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